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26. 'T'he sale price of 40 articles is cqual to the total printed price of 32 articles. Find the rate of

r‘lI-_._.l.,,,,,_..-....-...m-..--l-l-—

PA Ril '-I{(M:lll;(:l;l atics)

discount.
(A) 5% (1B) 107 () 12% @20%
27. 'T'he sum of two numbers is 40 and their difference is 4. Find the ratio of the numbers.
@H:‘) (3) 11:18 (C) 21:19 (1) 22:9
28. Simplify : y9x+/5++/121
(A) 1 (B) 2 () 4 D)o

29. A boy was asked to multiply a certain number by 50. He multiplied it by 30 and got his
answer less than the correct one by 400. Find the number to be multiplied.

(A) 10 ()20 () 30 (D) 40

30. Charu and Nirmal can do a job in 15 days and 10 days respectively. They began the work
together but Charu leaves after some days and Nirmal finishes the remaining job in 5 days.

After how many days did Charu leave?

@3 (B) 4 (C) 5 (D) 6
7 5 5
R
31. Simplify: 222
implity 29
4
) 3 5 T
= B) — C) = D) —
x () - ()7 ()2

32. Find the value of the expression (2)* +3x (2)*’x (4) +3x (4)*x (2) + (4)°
(A) 27 (B) 64 (©) 216 (D) 512
33. Ifa car moves from 'A' to 'B' at a speed of 60 km/hr and comes back from 'B' to 'A' at a

speed of 40 km/hr, then find its average speed duting the journey.
(A) 44 km/hr @ 48 km/ht (C) 52 km/hr (D) 54 km/hr

B

Page 7


web220
Oval

web220
Oval

web220
Oval

web220
Oval

web220
Oval

web220
Oval

web220
Oval

web220
Oval

web220
Oval

web220
Oval

web220
Oval


PageEg

34. A sum of T 3800 is lent out in twvo parts in such a way that the interest on one part at 8% for

1

5 years is equal to that on another part at — % for 15 vears. Find the sum lent out at 8%,

2
() T 580 @ 3 600 (©) % 620 D) Z 640

35. What percent of 144 is 36? e,
(.‘\) 16% (]3) 0% (C) 24% _d:J. 0

36. Babu sold his radio for ¥ 480 and thereby incurred a loss of 20%. Find the cost price of
radio.

(4\) % 500 (B) Z 540 (C) Z 580 'z' 600
37. Of the three numbers, second is twice the first and is also thrice the third. If the average of
the three numbers is 44, then find the largest number.

(&) 64 B) 68 @72 D) 76

0.04%0.04%0.04+0.03x0.03%0.03

0.04% 0.04-0.04% 0.03+0.03%0.03
(A) 0.05 (B) 0.06 @0.07 (D) 0.08

39. Find the least number which when increased by 5 is divisible by each one of the numbers
24, 32, 36 and 54.

(A) 427 859 (C) 869 (D) 920

40. A man bought 80 kg of salt for ¥ 88 and was obliged to sell it at a loss of as much money he
received for 20 kg. At what price did he sell the salt?

(A) 75 paisa/ke B) 80 paisa/kg (C) 88 paisa/kg (D) 90 paisa/kg

38. Evaluate:

41. What amount of money is divided between Nethran, Mridula and Miruna, if Mridula and
Miruna together get ¥ 100, and Nethran gets twice as much as Mridula while Miruna with

Nethran gets X 150?
() Z 80 F 200 (C) % 210 (D) Z 240

42. A number when divided by 602 leaves a remainder 36. What remainder would be obtained
by dividing the same number by 14?7

(A) 6 8 (C) 10 (D) 12

43. It , ’1 " 5—5- =1+ — , then find the value of 'x'.
%39 27

@) (B) 3 ©) 5 (D) 7

44. A certain number of men completed a piece of work in 60 days. If there were 8 more men,
the work could be finished in 10 days less. How many men were originally there?

() 32 (B) 36 @40 (D) 50

45. The ratio of number of boys and gitls in a school is 4 : 3. If there are 480 boys in the school,
then find the number of girls in the school.

360 (B) 375 (C) 380 (D) 400

46. 125% of 260 + y% of 700 = 500. Find the value of 'y'.
Q& 5) 52 © 46 D) 56

47. The length of a train and that of a platform are equal. If with a speed of 90 km/hr the train
crosses the platform in one minute, then find the length of the train in metres.

(A) 575 (B) 650 @750 (D) 800
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Reshma and Monisha invested in a business. They carned some profit which they divided
in the ratio of 2 : 3 respectively. If Reshma invested T 40000, then find the amount invested
by Monisha.

(A) T 45000 (B) % 50000 @'z’ 60000

48.

(1D) T 80000

he rate of interest?

49. At Simple Interest, a sum of money is doubled in 20 years. What is t
(8) 2% (B) 4% (C) 5% 1070

50. The HCF and LCM of the two numbers are 84 and 21 respectively. If the ratio of the

numbers is 1: 4, then find the larger of two numbers.

(4\) 12 (B) 48 @8 1 (D) 108
l: __ ~ PART-B (Mathe:_mat?c;) - J
26. 40 S0HL WY 8o G506, 32 HROPHO JVGG 63 HITNO: QLD E, GRS T80 do&
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| RN PART-C (i) (English) - I

51. Choose the correct antonyim of the given word from the options given below.

BRIGHT |
(A) Delightful (B) Brilliant ©)bul (D) Muminated

This box is 'too heavy for carry'.
(A) Too heavy cattylng @ Too heavy to carty  (C)

53. Choose the MISSPELT word.
@Blilisncss (B) Calendar

from the given options to complete the sent

(C) Commitiee (\D) Fo ~ward

>nce.
54. Choose the correct tensc L

Most of the trains usually

Come (B) Are come (C) Has come

late. |
(D) \Will be come

&
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the given sentence has four portions marked P, Q, R and S.

: uestion, _ .
55. In the following 4 quence in order to make a meaningful sentence.

Rearrange it in the proper st

j (P) / on Wednesday (Q) / write the exam (R) / Santhosh is (S)
ﬁ;l;%;g (B) QPRS (C) RPQS ‘ SPRQ)

6. Ch from the four options, the word that best substitutes the given phrase.
50. 00S€ )
"A name used instead of one's real name

! : ..
57. Which of the following sentences 1s correct? |
() The housc has built (13) The house have The house was built 1)) The house was build
by mv father built by my father by my father by my father

58. Choose the cotrect word/phrase to complete the following sentence.

I _____you are right.
(A) Am thought (B) Wil thinking (C) Would thought @’I'hink
59. Choose the cortect synonym of the given word from the options given below.
CALM
() Nervous (B) Violent (CC) Rough Sil::m
60. Choose the correct synonym of the given word from the options given below.
CRUSH
(AA) Build | Smﬂsh (.} Praise D) Surrender

61. Complete the proverb.
A picture is worth a thousand

\vords (B) Definitions (C) 1dcas D) Lights

62. Choose the alternative which hest
"Beat about the bush"

"[‘o talk something  (B) Beat the bushes in (C) Get excited
tor a long time order to dislodge
without coming to birds

the main point

expresses the meaning of the idiom /phrase given below.

(D) Trim the bush

k the given phrase.
A regular payment made by the Government to a retired employee"
@ Pension (B) Salan (C) Gratuity (D) Settdement

64. Choose the correct verb from t

The newspaper __on the table.
() Arelying (B) Have lie

(C) Have been lying Is lying

om the given options to complete ¢
accept my offer?

(_,.-\) For (B) In 'I'o

65. Choose the correct preposition fr

Are you willing he S€ntence,

(D) By
66. Choose the appropriate option to cumplem the sentence
After the clection, INto a new Stage,
(A) The entering nation (B) To enter the nation The nation wq) 1
" D) The natic
enter nanon to
. e . . ¢nterin
7. Use the aPppropriate article to complete the sente y

| nce given bﬂnw-_
_ Chess,

(B) A (C) An ' | 5%
T - | @:\0 article g,

Q!
"-"; Let us play
& (A) The

F g l- b . 0 bl 3o : e e u .

i i ey - A ' o "o
L O NG T T PRI TR e e o T
- " " - ‘
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68. Choose the correct alternative which will improve the part of the sent
: 1_ _ sente
rl-ihc mﬂtC]l 'cﬂﬂcc“lﬂg' bﬂ(—ﬂusc Of rain. !

(A) Is cancel (B) Has cancelled \‘i"ﬂs cancelled (1) No
1 : .CORRECTLY spelt ! O IMProveme,
69. Identify the CO pelt word. »

. Rocke
(A) Pistal () Rocker (C) Misile (D) Rifel

t antonym of the given word from the options given below

cl: 1 3 -

70. Choose the correc

(B) Rich (C) Well-off (D) Prosperous .
. 71-75): Read the following passage carefully and answer the questi
10ns

given below. |
One beautiful spring morning, a merchant loaded his donkey with bags of salt to 20 to th
e

market, in order tO scll the salt. The merchant and his donkey were walking along togeth
They had not walked far \:vhen they reached a river on the way. Unfortunately, the gonkeet‘
slipped and fell into the. river. As it scrambled up the bank of the river, it noticed that thi
bags of salt loaded on his back had become lighter. There was nothing the merchant could
do except return home, where he loaded his donkey with more bags of salt. As they reached
the slippery river bank again, the donkey fell into the river, this time deliberately. Thus, the

salt was wasted again.
By now the merchant knew the donkey’s trick. He wanted to teach the animal a lesson. As

he returned home the second time with the donkey, the merchant loaded bags of cotton on
its back. The duo set out on their trip to the market a third time. On reaching the river, the
donkey very cleverly fell into the water again. But now, instead of the load becoming lighter,
:« became heavier. The merchant laughed at the donkey and said, “You, foolish donkey, your

trick has been discovered. You should know that you cannot fool anyone too many times.”

71. When the donkey fell into the river with salt, the load on his back became :
(A) Bulky (B) Heavier Lighter (D) Big

72. Which of the following item was loaded on the donkey?
Salt (B) Paddy (C) Wheat (D) Rice

73. How many times did the donkey fall into the river?
@) ®) : © 4 D)3

74. Why did the donkey fall into the river?
(A) The donkey’slegs (B) The riverbank was  (C) The donkey wanted @None of these

were paining slippery to drink water

75. Why did the merchant load bags of cotton on the donkey’s back?
(A) He had no other @ He wanted to teach (C) He wanted to make (D) None of these

things to take to the the donkey a lesson profit out of it

market

- PARTC (i) (Tehugw) |
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